CokpaTuThb Apodu

x -4y
2ac + a’ x? —4xy + 4y-
7x — 14y Sa — 20c
3x — 6y 15ac
x—2b -a® + 2ab — b?

x? - 2bx 2a — 2b




CokpaTuTh Apodu

x2_y2
3x + 3y

3x° + bxy + 3y~ c’—y-
bx + 6y 5¢c - Sy
x*+ 10x+ 25 a—49
3x + 15 3a + 21




CoKkpaTuTh Apodu

xb — 5y + 5b — xy

x?—-25
b” + b* b” —4a”
b? + b® 2ab — b?+ 16a — 8b




\/'i Halith 3Ha4YeHuE apoou

32
(10x +y) npux=0,8; y=-4

2xy
(5x +y)? npux=-0,6; y=-3




\/,i Hantu 3HaYeHNEe BhIpaKEeHUd
7x
x*—10y npux=-8, y=-2,4

9
x*+ 12y npux=-9; y=-3

(4a + 3)?
3 —-4a npua = 1%




\/‘i HatiTh 3HaYeHHe BbIpasKEeHUs
bZ—25
(b—-5)* npub =-I

x3y” npux =-0,2; y=0,5

2b? — 3ab
15a*—-10ab npub=15; a=-1/3




\/‘i HanTu 3HayeHUe BBIPpaAXKEHUS

a’— 10ab + 25b*
a’ — 25b? npua =-22; b=28,4

a® + 8ab + 16b?
a*—16b®* npua=-18; b=-7,5




\/‘i HanTu 3HayeHUe BBIPpaAXKEHUS

8la? — b*
8la*—-18ab + b? npua=-8; b=-22

36a® — b2
36a®+ 12ab + b* npua=-9; b=34




